

Bott Radio Network St Louis, MO (KSIV-AM) 10550 Barkley #100 Overland Park, KS 66212

Salem Radio Representatives 6400 N Belt Line Rd. Ste 220 Irving, TX 75063

Contract # 41465

**Schedule Dates** Advertiser

Agency

**Product** 

Brand

03/12/18-03/20/18

One Nation Under God Foundation (19) (7288) Salem Radio Representatives (1002)

Political (1179)

One Nation Under God Foundation (13678)

Salesperson National Sales Manager, (1003)

Sales Office HOUSE

Weber, Charlie **Buyer Name** Phone/Fax (972) 402-8800x224 /

**Account Types** National/Political Issue Agency

**Billing Type** Standard Comments

**Date Entered** 03/09/18

**Last Modified** 

Lesley Gill No

Headline # Demo

**Entered By** 

CO-OP

Order Type

Normal New

Package Deal

Commission % 15.00 Commission \$83.85 **Net Total** \$475.15

Sales Tax

3/9/18CB

St. Louis, MO (KSIV-AM)

By Broadcast Month Spot

27

27

Mar. 2018

Grand Total:

Rate

\$559.00

\$559.00

COPY CHECKED IN ... COPY ASSIGNED ... e-mailed . .

## INCOMPLETE CONTRACT

Due to: Pending line Approvals (Contract is shown with Pending Workflow Approvals applied)

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We	Th	Fr	Sa	Su	Spots	Rate	Total	Station	Comments	Entered
Est 1.0	Unapproved (NewL) / SPOT	03/12/18-03/16/18	1	1:00	6A- 10A (CST)		1	1	1	1	1			5	\$27.00	\$135.00	St. Louis, MO (KSIV-AM)		3/9/18
Est 2.0	Unapproved (NewL) / SPOT	03/12/18-03/16/18	1	1:00	10A- 3P (CST)		1	1	1	1	1			5	\$20.00	\$100.00	St. Louis, MO (KSIV-AM)		3/9/18
Est 3.0	Unapproved (NewL) / SPOT	03/12/18-03/16/18	1	1:00	3P- 7P (CST)		1	1	1	1	1			5	\$20.00	\$100.00	St. Louis, MO (KSIV-AM)		3/9/18
Est 4.0	Unapproved (NewL) / SPOT	03/17/18-03/18/18	2	1:00	6A- 7P (CST)							3	3	6	\$15.00	\$90.00	St. Louis, MO (KSIV-AM)		3/9/18
Est 5.0	Unapproved (NewL) / SPOT	03/19/18-03/20/18	1	1:00	6A- 10A (CST)		1	1						2	\$27.00	\$54.00	St. Louis, MO (KSIV-AM)		3/9/18
Est 6.0	Unapproved (NewL) / SPOT	03/19/18-03/20/18	1	1:00	10A- 3P (CST)		1	2						3	\$20.00	\$60.00	St. Louis, MO (KSIV-AM)		3/9/18
Est 7.0	Unapproved (NewL) / SPOT	03/19/18-03/19/18	1	1:00	3P- 7P (CST)		1							1	\$20.00	\$20.00	St. Louis, MO (KSIV-AM)		3/9/18

1	1	ñ	-	E	1000	0	A	3	A	•	T	000	1	٨	900	C	1	A	é ×	3	1	3 /	1	1	Night	3
1	W	-	A	1	ž	11		V	1	1	1	-	U	1	V	1		1	V	8	m	1	1	1	-	

Accepted-Agency/Advertiser:	
-----------------------------	--

Date:

Accepted-Station:

Date:

Comments:

B/E Bookend P/B Piggy Back

Printed At: 10:39 AM on Friday, March 9 2018

2. PSI 319/18 80.7% POL

noite	EM al	Irvina TX 75063			_		Ins	ertion	Con (%)	ract				14	Order#	Ver#	Rev#	# Wks	Page #
J N DC		7				ertiser e Nation l	Jnder Go	d Foundat	04/	Product M III Is				D:	te 8/18	Time 4:26PM	- 1		nd /25/18
Sale 640	Salem Radio Network ((6400 N Beltline Rd					sperson arlie Web	er				son Phone 02-8800 E				Demos				
Suite	e 210 g, TX 75063				-	s Office IR (SA Re	gion)			Agency	sing Asso	ociates			Survey				
					Pro	duct Prote	ection: *P	olitical-Iss	ue										
Line #	Vehicle	Days & Times M T W T F S S	Mar 12	Mar 19	Mar 26	Apr 2	Apr 9	Apr 16	Apr 23	Apr 30	May 7	May 14	May 21	May 28	Jun 4	Total Units		n Unit	Extended
29	KSIV AM	1: 1: 1: 1: 0: 0 6AM-10AM	5														5 6	-	_
30	KSIV AM	1 1 1 1 1 0 0 10AM-3PM	5														5 6	0 20.00	11
31	KSIV AM	1 1 1 1 1 0 0 3PM-7PM	5														5 6	0 20.00	10
32	KSIV AM	0 0 0 0 0 3 3 6AM-7PM	6														6 6	0 15.00	
33	KSIV AM	1 1 0 0 0 0 0 6AM-10AM		2													2 6	0 27.00	
34	KSIV AM	1 2 0 0 0 0 0 10AM-3PM		3													3 6	0 20.00	
35	KSIV AM	1 0 0 0 0 0 0 3PM-7PM		1													1 6	0 20.00	
_	Totals		21	6		^	0		0	0	0	•	0	•	0	2	_	<u> </u>	
		Weekly Units Weekly Gross \$	21 425	134	0	0	0	0	0	0	0	0	0	0	0	2	7		559
		Air Time Total G	iross:		\$559.0	00			Agency C	ommission	n: \$8	3.85			Total	al Net:	\$4	75.15	
Orde With All o	er is Broadcast Ca approval of sales		iil signe flight c	d inserti	on to in	sertions@	srnradi	o.com	ber.	cepted for P		Station:				W. C.			
								_	Pat_	Signed by:						Manager			
Name		Titl	е							PBBD29DD	46C				Title				

NAM Form PB-17 Issues

## AGREEMENT FORM FOR NON-CANDIDATE/ISSUE ADVERTISEMENTS

Station and	Location:				1-7-18
Advente reques	rlining st station time conse	ning the foll	owing issue:		
The o	Nation	) Uni	der L	Yod.	
Brondesst Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
D	e at	tache	LSC	hedule	<b>o</b>
Total Char	ges: se	est	ation		
This broadcast t	ime will be used by:	The	Datio	n Unde	V God
	rogramming ( elating to any				
	□ Yes	•		□ No	

One Dation Under God
For programming that "communicates a message relating to any political matter of national importance," attach Agreed Upon Schedule (Page 3)
I represent that the payment for the above described broadcast time has been furnished by:
The nation under God
and you are authorized to announce the time as paid for by such person or entity. The entity furnishing the payment, if other than an individual person, is:
🗆 a cosporation; 🖾 a committee; 🗀 an association; 🗀 or other aniscosporated group.
The names, offices, and addresses of the chief executive officers, directors, and/or authorized agents of the entity are named below (may be attached separately):
THIS STATION DOES NOT DESCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.
I agree to indomnify and hold harmless the station for any damages or liability, including reasonable attorney's fees, that may ensue from the broadcast of the above-requested advertisement(a). For the above-stated broadcast(a), I also agree to prepare a script, transcript, or tape, which will be delivered to the station at least
TO BE SIGNED BY ISSUE ADVERTISER
3-7-18 Date Signature Bales 972 757-6772 Contact Phone Number
TO BE SIGNED BY STATION REPRESENTATIVE
Accepted Accepted in Part Rejected  Signature Printed Plane  Title
Copyright O 2011 by the National Association of thousands they Not See Copied, Reproduced, or Further Distributed.
HONE NATION UNDER GOD FOUNDATION
KRISTEN KODIMOUSE TREASURER
414 NORTH OPLEANS PLAZA # 320 CHRAGO, III 60654

For programming that "communicates a message relating to any political matter of national importance," list the name of the ingally qualified candidate(s) the programming refers to, the office(s) being sought and the date(s) of the election(s) (if applicable):

## **AGREED UPON SCHEDULE**

For All Issue Advertisements That Communicate a Message Relating to Any Political Matter of National Importance

Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
		see	ocled	la	i

Total Charges:	see	0	tati	no
----------------	-----	---	------	----

## AFTER AIRING OF BROADCASTS:

Attach invoices or Schedule Run Summary to this Form showing:

- (1) actual air time and charges for each spot;
- (2) the date(s), exact time(s) and reason(s) for Make-Good(s), if any; and
- (3) the amount of rebates given (identify exact date, time, class of broadcast and dollar amount for each rebate), if any.

Note: Because the FCC requires that the political file contain the actual times the spots air, that information should be included in the file as soon as possible. If that information is only generated monthly, the file should include the name of a contact person who can provide the times that specific spots aired.